
Paper 1 

Section A 

Question 
Candidates'Performance Number 

3 Only 27% of candidates were able to choose the key, while 54% wrongly chose B. It is 
likely candidates choosing option B calculated the average gradient of the section of 
Chun Wah Road using the straight line distance between the two spot heights instead of 
the actual length of the road. 

In conclusion, candidates should: 

1

 

3. 

Candidates'Performance 

There are 40 multiple-choice questions in this paper. The average number of questions answered 
correctly by candidates was 26. The overall performance of the candidates was satisfactory. 

The following table lists some weaknesses of this year's candidates: 

improve their map reading skills; 

2. study the information given in the questions in greater detail;

improve their understanding on local and global issues; and 

4. enhance their basic geographical knowledge.
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Paper 1 

Section B 

Perfonnance in General 

Question 
Number 

1. (a) (i)

(ii) 

(iii) 

(b) (i)

(ii) 

(iii) 

Popularity 
％ 
38 

Performance in General 

Good. Most candidates were able to identify the two features. 

Good. Most candidates, especially those taking the English version paper,
were able to explain the formation of the wave-cut platform with a series of 
annotated diagrams. A few candidates separated annotations from the 
diagrams. Some candidates wrongly stated that the collapse of the roof of 
a notch formed the sea cliff. 

Well answered. Most candidates were able to explain the formation of the 
beach with photograph evidence. 

Fair. Some candidates wrongly identified the man-made structure as sea 
wall. The use of wrong Chinese characters was quite common in the 
Chinese version paper. 

Good. Most candidates were able to explain the advantages of the 
breakwater. 

Poor. Most candidates argued the effectiveness of mangrove in reducing 
erosion on one side only. Many candidates focused their evaluation on 
the cost and feasibility of growing mangrove instead of the effectiveness of 
planting mangrove as an alternative coastal management strategy. 

2. (a) (i) 66 

(ii) 

(b) (i)

(ii) 

(c) (i)

Good. Most candidates were able to state the advantages of plant X. 

Satisfactory. Many candidates were able to state the problems faced by 
plant X. 

Poor. Many candidates were not able to quote relevant map or 
photograph evidence to justify their answers. 

Fair. Many candidates were able to identify the availability of coalfields 
and iron ores but described them as resources rather than raw materials. 
Some candidates were able to identify the establishment of the plant in 
1951 to explain the industrial inertia. 

Poor. Many candidates made a contrast on the crude steel production 
instead of the growth trends of production between regions A and B. 
Some candidates just listed out the figures without calculating the growth 
trends of regions A and B. Some candidates misinterpreted the data and 
wrongly stated that the growth rate of region A was higher than region B. 

Poor. Some candidates were not able to contrast the figures in question 
(c) (i) and gave wrong explanations. Some candidates placed too much
emphasis in explaining the phenomenon in one region only. Many
candidates have limited knowledge of the'Go West'Policy.

Question 
Number 

3. (a) (i)

(ii) 

(iii) 

(b) (i)

(ii) 

4. (a) (i)

(ii) 

(b) 

(c) 

(ii) 

(iii) 

Popularity 
％ 
28 Good. Most candidates were able to identify the land use correctly. 

Fair. Some candidates were not able to identify the land use correctly 
while many candidates focused on describing how air quality could be 
improved. Some candidates concentrated on the discussion of the solar 
panels on the roof top of the building in the photograph as an important 
alternate energy source. 

Fair. Most candidates were able to list the map evidence for high 
accessibility. However, only few candidates quoted'straight coastline'as 
evidence of reclamation. Some candidates wrongly considered nearby 
industrial land use as a means that would give rise to industrial 
agglomeration. 

Fair. Many candidates were able to explain how the two projects may 
speed up the land use changes. However, some answers were too general. 
Some candidates had no idea of what a cruise terminal was and considered 
it as a ferry pier for daily transport of goods and passengers. 

Fair. Many candidates were able to mention both the positive and 
negative impact of the land use changes. However, some answers were 
too general in discussing the impact on Hong Kong only and not the 
residents of East Kowloon in specific. 

（｀ Fair. Many candidates were able to describe the two trends. However, 
some candidates did not read the graph carefully and gave wrong figures in 
describing the trends. 

Fair. Many candidates described rather than explained the relationship. 

Good. Most candidates were able to list the negative environmental 
impact such as soil, climate, etc. 

Poor. Most candidates wrongly interpreted'ecological characteristics' 
and included the characteristics of human factors in their answers. 

Poor. Many candidates were not able to evaluate the effectiveness of 
reforestation. Most candidates were not able to compare the size of total 
reforested area with the loss of forested areas. Only few candidates were 
able to consider the socio-economic conditions or the limitations of the 
Brazilian government in conserving the forest areas in their evaluation. 
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Paper 1 

Section C 

General comments and recommendations 

l . Candidates should pay attention to the wording, especially the key terms, in the question to avoid

misinterpretation.

Question 
Number 

5 

Popularity 
％ 

34 

Performance in General 

Satisfactory. Many candidates were able to explain the occurrence of the three 
types of tectonic hazards, but failed to relate them to the Circum-Pacific belt as 
stated in the question. Many candidates failed to mention the names of plates 
surrounding the Pacific Ocean except the Eurasian Plate and Pacific Plate, hence 
failed to relate the tectonic hazards with associated plate boundaries. Some 
candidates included irrelevant answers, such as 'hot spot volcanoes','volcanic 
islands along mid-oceanic ridge', etc. when explaining the hazards at the 
constructive plate boundary. 

Some candidates had limited knowledge on land use zoning and thus included all 
kinds of measures which could help to reduce the impact of tectonic hazards in 
their answers. 

2. 

3. 

4. 

5. 

Candidnlcs should apply geographical concepts and use geographical terminology in answering the

questions.

Candidates should practise more their geographical skills, including map reading, photograph and

graph inlt'rprctation.

Candidates油ould practise more their skills of drawing annotated diagrams, especially the correct

placement or the annotations.

Candidates shou Id be more familiar with current issues and not just rely on textbook knowledge.

6 35 Fair. Most candidates failed to address all the aspects of the physical 
environment, i.e. atmosphere, hydrosphere, lithosphere and biosphere, in Sahel. 
Some candidates misinterpreted physical environmental characteristics as those 
under the impact of nomadism. A small number of candidates mixed up the 
physical environment of Sahel with the tropical rainforest, or misinterpreted 
nomadism as cattle ranching. 

Many candidates provided only perfunctory answers in the second part of the 
question by repeating the adverse physical environment of Sahel and elucidating 
the general cultural constraints there, such as poor government policy and poverty. 
Most candidates concentrated their discussion on the physical and soil constraints 
on arable farming only. Some candidates mentioned the use of agricultural 
technology, irrigation and genetically modified food, etc. regardless of arable 
farming. Few candidates were able to focus their discussion on arable farming in 
the context of Sahel. Only a few candidates were able to have an in-depth 
discussion involving views from the two opposite sides on whether arable farming 
is a better way to increasing food supply. 
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Poor. Most candidates recalled knowledge from textbooks rather than describing 
the adverse impact of global warming in Hong Kong. Some candidates wrongly 
referred to heat island effect and intensified air pollution problem when answering 
this part. Some candidates confused the concepts of'global warming' with 

'greenhouse effect'. 

Some candidates did not understand the meaning of'urban greening' and 
misinterpreted it as sustainable or green city design by wrongly mentioning 

'renewable energy resources' and'mass transit system'in their discussion. Some 
candidates mistook 'urban greening' as 'reforestation'. Others wrongly 
associated it with'land use zoning'or'creating more open space'. 
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